Curso de Graduagdo em Administragdo a Distancia
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(i)fa’x=x+C.
xn+l

(11)fxdx=x+1+C, n=-1.

dx

i) [— =1 C.

(111)fx n‘x+

(iv)faxdx= a +C, a>0, a=1l.
Ina

(V)fexdx=ex+C.

(vi) fsenxdx= -cosx+C.

(vii) fcosxdx= sen x+C .

(viii) ftg X dx = ln‘sec x‘ +C.

(ix) fcotg X dx = ln‘sen x‘ +C.

(x) fsecxdu=ln‘secx+tgx‘+C.

(x1) f cosec x dx = ln‘cosec X — cotg x‘ +C.
(xii) fsecxtgxdx=secx+C.

(xii1) f cosec x cotg x dx = —cosec x + C .
(xiv) fseczxdx= tgx+C.

(xv) fcoseczx dx =—-cotg x +C .

) dx 1 X
XVi =—arctge—+C.
( )fx2+a2 a ga
dx 1 |x-a
Xvii =—1In +C, x*>a’.
( )fx2—a2 2¢ |x+a

+C.

(xviii) f%:lnxﬂlx%az
X +da
(xix)f%=lnx+\/x2_az

dx X
(xx) f—=arc sen—+C, x’<a’.
Va* - x? a

+C.




